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QUESTION 1

Which of the following expressions evaluate to True? (Choose two.) 

A. ord(“Z”) - ord(“z”) == ord(“0”) 

B. chr(ord(‘A’) +1) == ‘B’ 

C. len(‘\’’) == 1 

D. len(“““ ”””) == 0 

Correct Answer: AC 

 

 

QUESTION 2

What is the expected output of the following snippet? 

A. True lower 

B. True upper 

C. False upper 

D. False lower 

Correct Answer: B 
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QUESTION 3

Which of the following invocations are valid? (Choose two.) 

A. sort("python") 

B. "python".find("") 

C. "python".rindex("th") 

D. `python\\'.sorted() 

Correct Answer: BC 

 

QUESTION 4

Which of the following lines of code will work flawlessly when put independently inside the add_new() method in order to
make the snippet\\'s output equal to [0, 1, 2]? (Choose two.) 

A. self.queue.append(self.get_last() + 1) 

B. self.queue.append(get_last() + 1) 

C. self.queue.append(self.queue[-1] + 1) 

D. queue.append(self.get_last() + 1) 
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Correct Answer: BC 

 

 

QUESTION 5

Which of the following literals reflect the value given as 34.23? (Select two answers) 

A. .3423e2 

B. 3423e-2 

C. .3423e-2 

D. 3423e2 

Correct Answer: AB 
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